
Exploded diagram and spare parts list  CD400 

1 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

 

Machine Explod
e  

Code Description 

CD400 - Heavy Duty Meat Mincer 1.  AD415 Screw cap 
CD400 - Heavy Duty Meat Mincer 2.  AD416 Cutting plate 8 
CD400 - Heavy Duty Meat Mincer 3.  AD417 Cutting plate 5 
CD400 - Heavy Duty Meat Mincer 4.  AD418 Cutting blade 
CD400 - Heavy Duty Meat Mincer 5.   Feed screw 
CD400 - Heavy Duty Meat Mincer 6.   Locking knob 
CD400 - Heavy Duty Meat Mincer 7.  AA513 Hopper plate 
CD400 - Heavy Duty Meat Mincer 8.  AA514 Food pusher 
CD400 - Heavy Duty Meat Mincer 9.  AA511 Oil hole plug 
CD400 - Heavy Duty Meat Mincer 10.   Socket head cap screw M5×25 
CD400 - Heavy Duty Meat Mincer 11.   Spring washer M5 
CD400 - Heavy Duty Meat Mincer 12.   washer M5 
CD400 - Heavy Duty Meat Mincer 13.   POM washer 
CD400 - Heavy Duty Meat Mincer 14.   high temperature resistant washer 
CD400 - Heavy Duty Meat Mincer 15.   Stainless steel washer 22×14.2×0.2 
CD400 - Heavy Duty Meat Mincer 16.   bevel wheel 
CD400 - Heavy Duty Meat Mincer 17.   Gear shaft 
CD400 - Heavy Duty Meat Mincer 18.   Pin 3×15 



Exploded diagram and spare parts list  CD400 

2 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

CD400 - Heavy Duty Meat Mincer 19.   Small bevel wheel 
CD400 - Heavy Duty Meat Mincer 20.   Motor assembly 
CD400 - Heavy Duty Meat Mincer 21.   Stainless steel n. panel 
CD400 - Heavy Duty Meat Mincer 22.   Washer M4 
CD400 - Heavy Duty Meat Mincer 23.   Spring washer M4 
CD400 - Heavy Duty Meat Mincer 24.   Bolt M4×6 
CD400 - Heavy Duty Meat Mincer 25.   Back cover 
CD400 - Heavy Duty Meat Mincer 26.   Socket head cap screw M4×8 
CD400 - Heavy Duty Meat Mincer 27.  AA456 Fuse 
CD400 - Heavy Duty Meat Mincer 28.   Supply cord 
CD400 - Heavy Duty Meat Mincer 29.   Supply cord back up ring 
CD400 - Heavy Duty Meat Mincer 30.   Base seat 
CD400 - Heavy Duty Meat Mincer 31.  AA534 Switch 
CD400 - Heavy Duty Meat Mincer 32.   Switch keysets 
CD400 - Heavy Duty Meat Mincer 33.   Bolt M4×16 
CD400 - Heavy Duty Meat Mincer 34.   Sunk self tapping screw PT4×8 
CD400 - Heavy Duty Meat Mincer 35.  AA534 Switch knob 
CD400 - Heavy Duty Meat Mincer 36.   Bolt M3×10 
CD400 - Heavy Duty Meat Mincer 37.   Washer M4 
CD400 - Heavy Duty Meat Mincer 38.   Spring washer M4 
CD400 - Heavy Duty Meat Mincer 39.   Bolt M4×10 
CD400 - Heavy Duty Meat Mincer 40.   Supply cord holder 
CD400 - Heavy Duty Meat Mincer 41.   Washer M8 
CD400 - Heavy Duty Meat Mincer 42.   Spring washer m8 
CD400 - Heavy Duty Meat Mincer 43.   Socket head cap screw M8×25 
CD400 - Heavy Duty Meat Mincer 44.   Capacitor holder 42 
CD400 - Heavy Duty Meat Mincer 45.   Capacitor holder 34 
CD400 - Heavy Duty Meat Mincer 46.   Nut M4 
CD400 - Heavy Duty Meat Mincer 47.   Bolt M4×8 
CD400 - Heavy Duty Meat Mincer 48.   Base board 
CD400 - Heavy Duty Meat Mincer 49.  AA546 Run capacitor 
CD400 - Heavy Duty Meat Mincer 50.  AA547 Start capacitor 
CD400 - Heavy Duty Meat Mincer 51.   Washer 4×1.2 
CD400 - Heavy Duty Meat Mincer 52.   Rubber underlay 
CD400 - Heavy Duty Meat Mincer 53.   Bolt M4×12 
CD400 - Heavy Duty Meat Mincer 100.   Head Assembly 
CD400 - Heavy Duty Meat Mincer 101.   Head 
CD400 - Heavy Duty Meat Mincer 102.   Locking Pin 
CD400 - Heavy Duty Meat Mincer 103.   Stainless Steel Pin 
CD400 - Heavy Duty Meat Mincer 200.   Transmission Case Cover Assembly 
CD400 - Heavy Duty Meat Mincer 201.   Transmission Case Cover 
CD400 - Heavy Duty Meat Mincer 202.   Output Shaft 
CD400 - Heavy Duty Meat Mincer 203.   Seal Ring B24×40×7 
CD400 - Heavy Duty Meat Mincer 204.   Bearing 6203-2Z 
CD400 - Heavy Duty Meat Mincer 205.   Circlip 
CD400 - Heavy Duty Meat Mincer 206.   Big Bevel Wheel 
CD400 - Heavy Duty Meat Mincer 207.   Pin M3×11 

 


